Flesso a tangente verticale
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2= f [X_, X0_] :=Pi ecew se[

{

{1+Vx—x0, xzxo},
{l—VxO—x, x<x0}

J
]

in[3):= secante[x_, x0_, A_]:=1+

* (X - x0)



2 | flessi-tg_verticale.nb

In[4]:= flex =Pl ot [

{f [x, 1], secante[x, 1, 0.6]}, {x, 0, 2},
AxeslLabel - {"x", "y"},
PlotStyle » {
{Thi ckness [0. 003]},
{Dashed, R@Col or [0, 0, 0], Thi ckness[0.001]}
1
Ti cks - {
{
{1, "xo"}
¥
{
{fr1, 11, "f (xo)"}
}
1
Epil og - {
{
Dashed,
RGBCol or [1, 0, 0],
Thi ckness [0. 00471,
Arrow[{{1, 0}, {1, 2.3}}]
1,
Point [{1, 1}1,
Point [{1.6, f[1.6, 1]}]1,
Text ["Po", {1.05, f[1, 11}1,
Text ["P", {1.6, f[1.6, 1] +0.1}1,
Text ["sax", {1.8, 2.2}1,
Text ["To", {1.05, 1.9}]

}
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5= plot [A_]1:=Plot[
{f [x, 1], secante[x, 1, A1}, {x, O, 2},
Pl ot Range -» {0, 2},
PlotStyle - {
Thi ckness [0. 0057,
Thi ckness [0. 001]
1.
| mageSi ze » {
500,
500
1}
AxeslLabel - {"x", "y"},
Ti cks - {
{
{1, "Xo"},
{1+4, "Xo+AX"}
1

{(f 1, 17, "f (Xo)"},
{f[1+a, 1], "f (Xo+2aX)"}
}
h
Epil og -» {
{Poi nt Si ze[0.01], Point [{1, 1}1},
{PointSize[0.01], Point [{1+a, f[1+4, 1]1}1},
Text ["Po", {1.1, f[1, 11}1,
Text ["P", {1.01+4, f[1+4, 1] +0.1}]
}
1
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pl ot [0. 6]
y
=]
f (Xo+AX) +
f(xo) P
Xo+AX

rettatangente = Tabl e
plot [a], {a, 0.6, 107*?, -0.01}
l:

Cl ear [f, secante]

f[x_, x0_]:=Piecew se[

{

{1—Vx—x0, xsz},
{1+Vx0—x, x<x0}

J
]

secante[x_, x0_, A_]:=1-
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flexl=Plot]

{f [x, 1], secante[x, 1, 0.6]}, {x, 0, 2},
AxeslLabel - {"x", "y"},
PlotStyle » {
{Thi ckness [0. 003]},
{Dashed, R@Col or [0, 0, 0], Thi ckness[0.001]}
1
Ti cks - {
{
{1, "xo"}
¥
{
{fr1, 11, "f (xo)"}
}
1
Epil og - {
{
Dashed,
RGBCol or [1, 0, 0],
Thi ckness [0. 00471,
Arrow[{{1, 2.3}, {1, 0}}]
1,
Point [{1, 1}1,
Point [{1.6, f[1.6, 1]}]1,
Text ["Po", {1.05, f[1, 11}1,
Text ["P", {1.6, f[1.6, 1] +0.1}1,
Text ["sax", {1.4, 0.6}],
Text ["To", {1.05, 1.9}]
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